Section 1 - Business Communication

1) Read the jumbled passage carefully and then pick the
option in which the best sequence is shown

i) Converting money into several currencies in the course
of one trip can also be quite expensive, given that banks
and bureaux de change charge commission on the
transaction.

if) Trying to work out the value of the various notes and
coins can be quite a strain, particularly if you are visiting
more than one country.
iii) Travel can be very exciting, but it can also be rather
complicated.

iv) One of these complications is, undoubtedly, foreign
currency.

The best sequence is:

A) ii.iiii,iv
B) iv,i,iii, i
Q) iii, v, i, i
D) iv,iii,ii,i

2) Fill up the blanks by choosing the most appropriate
option:

Some people believe that in emotional maturity men are
inferior ......... women.

A)to

B) from
C) than
D) against

3) Communication being particular and clear rather than
fuzzy and general implies which Principle of
Communication?
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A) Principle of Conciseness
B) Principle of Concreteness
C) Principle of Courtesy

D) Principle of Clarity

4) Fill up the blanks by choosing the most appropriate
option

Drinking country liquor at marriage is a custom
............... certain tribes.

A) among
B) between
C)in

D) with

5) Find out the appropriate meaning of the given word
from the choices given below it:

Perjure

A) To hide

B) To Lie

C) To confess
D) To deny

6) Fill up the blanks by choosing the most appropriate
option

He was not listening ................ | was saying.

A) that

B) which
C) to what
D) what



7) Read the jumbled passage carefully and then pick the
option in which the best sequence is shown

i) This clearly indicates that the brains of men and women
are organized differently in the way they process speech.
i) Difference in the way men and women process
language is of specially interest to brain researchers.
iii) However, women are more likely than men to suffer
aphasia when the front part of the brain is damaged.
iv) It has been known that aphasia-a kind of speech
disorder- is more common in men than in women when
the left side of the brain is damaged in an accident or after
a stroke.

The best sequence is:

A) i iv,iii, i
B) iv,i,iii,ii
C) i, i,iii,iv
D) iv,iii,jii,i

8) Find out the appropriate meaning of the given word

from the choices given below it:

Empathy

A) Tranquility

B) Opposition

C) Understanding
D) Ire

9) Choose the most appropriate option for each of the
following question:

“Mala fide” means:

A) bad intention
B) generous

C) genuine

D) trustworthy

10) The purpose of MIS is to:

A) To reduce management clashes

B) To help in recruitment

C) To allocate different type of resources to different
functional areas

D) To increase labour output

11) Choose the most appropriate option for each of the
following question:

“To smell a rat” means:

A) To behave like a rat
B) To trust blindly

C) To suspect a trick

D) To detect a foul smell

12) Price-lists, Manuals, Purchase Orders are examples
of:

A) Horizontal communication
B) Internal communication
C) External communication
D) Vertical communication

13) Choose the most appropriate option for each of the
following question:

“To cool one’s heels” means:

A) To kick someone with the heels
B) To Close the Chapter

C) To wait and rest for some time
D) To walk on the heels

14) Choose the correct spellings in options given below

A) Adherense
B) Adherance
C) Adharence
D) Adherence

15) Choose the most appropriate option for each of the
following question:



C) New
D) Dynamic
“Pro rata” means:

20) Choose the most grammatically correct option from
below :
A) according to rate or proportion

B) for the good of the public
C) a summary or curriculum vitae
D) point by point

A) The Titanic did not reach its destination

B) The Titanic did not reach her destination

C) The Titanic did not reach their destination

D) The Titanic did not reach his destination

16) An amount set aside out of profits or surpluses to meet

contingencies is called: 21) Choose the correct spellings in options given below

A) Repo A) Remuneration
B) Reserve B) Renumeration
C) Collateral C) Remunaration
D) Royalty

D) Renumaration

17) Fill up the blanks by choosing the most appropriate

_ 22) Under data can be stored on cloud.
option
My father was annoyed ............... me. A) Electronic storage
B) File storage

_ C) Big data storage
A) with D) Cloud storage
B) towards
C) against
D) upon

23) Choose the most grammatically correct option from
below :

A) Please stop interfering into my romantic life.
B) Please stop interfering in my romantic life.

C) Please stop interfering for my romantic life.
18) ____ is distracting and interferes with the D) Please stop interfering with my romantic life.
communication process.

A) No!”le of the above 24) When addressed to all employees, an Office
B) Noise Memorandum is as good as a/an
C) Sender’s voice

D) Receiver’s voice A) Office order

B) Business Letter
C) Office circular
19) Communication is a process as it D) Report

incorporates the changing shape of the participants and
the environment.

A) Costl 25) Known to self and known to others is called
y in Johari Window.
B) Slow



A) Facade

B) Blind Spot

C) Unknown

D) Arena Quadrant

26) A Quorum is:

A) A list of securities owned by a person
B) One who acts on behalf of other
C) A person who own a business

D) Minimum number of members required to be present
in order to transact business at a meeting

Read the given passage carefully and choose the most
appropriate option to the questions.

Nature writing is nonfiction or fiction prose or poetry about
the natural environment. Nature writing encompasses a
wide variety of works, ranging from those that place
primary emphasis on natural history facts (such as field
guides) to those in which philosophical interpretation
predominate. It includes natural history essays, poetry,
essays of solitude or escape, as well as travel and
adventure writing.

Nature writing often draws heavily on scientific information
and facts about the natural world; at the same time, it is
frequently written in the first person and incorporates
personal observations of and philosophical reflections
upon nature.

Modern nature writing traces its roots to the works of
natural history that were popular in the second half of the
18th century and throughout the 19th. An important early
figure was the "parson-naturalist" Gilbert White (1720 —
1793), a pioneering English naturalist and ornithologist.
He is best known for his Natural History and Antiquities of
Selborne (1789).

27) Which statement summarizes the above passage?

A) The passage talks about how the nature writing is
missing in the modern era and needs to be revived.

B) The passage talks about the life and lessons of Gilbert
White, a profound naturalist and ornithologist.

C) The passage talks about what nature writing is, the
different types of nature writing, its style, and about
the roots and pioneer of modern nature writing.

D) The passage talks about from where the writers draw
inspiration for nature writing, and how its importance
is diminishing in the modern era.

28) Choose most appropriate option:
Nature writing emphasizes on:

i Historical facts about the nature
ii. Philosophical interpretations of the nature
iii. Scientific information and facts

A) (i), (i) and (iii)

B) None of the above
C) Only (i) and (ii)

D) Only (i) and (iii)

29) Based on the passage what is period to which the
modern nature writing can be traced to:

A) 1750 till 1900
B) 1750 till 1899
C) 1850 to 1899
D) 1850 till 1999

30) Which word aptly describes the word “reflections” as
used in the passage

A) Opinion

B) None of the above
C) Reproduction

D) Images

31) According to the passage, what kind of works are
written as part of nature writing?

i. Natural history essays and essays of solitude or escape
ii. Poetry
iii. Travel and adventure writing

Choose the correct options.

A) Only (i) and (iii)
B) Only (i) and (ii)

C) All of the above
D) Only (i)

32) The workers’ empowerment and their participation in
management has led to an increase in the flow of:

A) Diagonal communication
B) Upward communication



C) Horizontal communication
D) Downward communication

33) An address bar is also known as:

A) Search bar

B) Web browser bar
C) HTTP bar

D) URL bar

34) Read the jumbled passage carefully and then pick the
option in which the best sequence is shown

i) She was right about three-curiosity, freckles, and
doubt-but wrong about love.

ii) “Pour of the rings I'd be better without: Love curiosity,
freckles, and doubt”.

iii) Love is indispensable in life.
iv) So wrote Dorothy Parker, the American writer.

The best sequence is:

A) ii,iv,i,ii
B) iv,iii,ii,i
C) iv,i,iii, i
D) iii,i,iv,ii

35) A/An is an evaluation or assessment or
review of a particular event, issue, period or set of
circumstances related to a business.

A) Business Letter
B) MIS

C) E mail

D) Business Report



Section 2 - Legal Aptitude and Logical Reasoning

No. of Questions: 35
Duration in Minutes: 120

B) 15 November, 1948

C) 26 January, 1950
36) Fundamental Rights mentioned in the Constitution of D) 26 January, 1949
India borrowed from:

A) British Constitution : '
) ) L 40) Identify the figure that completes the pattern.
B) Canadian Constitution
C) U.S. Constitution
D) Russian Constitution

V-2 O [ ¥ I V-

x) (1) (2) (3) (4)
37) Choose the alternative which is closely resembles the
mirror image of the given combination.
A)l 2
MALAYALAM ) Image
B) Image 1
(1) MALAYALAM £} Image 4
D) Image 3
(2) MAJAYAJAM
41) Quasi-contract means:
(3) WYTVAYIYIN

A) None of the above
B) Arising as if from deed
C) Legal portion

(4) MATAYATAM

D) From the conduct of a party a contract comes into
A)2
B) 4
01 42) What will come in place of Question Mark?
D) 3

13, 26, ?, 42, 65

38) Turpis contractus means:

A) 49
A) At the proper time i) :é
B) Under silence D) 39
C) An infamous contract D)

D) An immoral contract

43) Which of the following diagrams indicates the best

o . relation between Travelers, Train and Bus ?
39) The Constitution of India was adopted on:

A) 15 August, 1947



A) Image 1
B) Image 4
C) Image 3
D) Image 2

44) Maximum no. of members a private company can
have excluding its present and past employee members:

A) 150
B) 200
C) 50

D) 100

45) In law of torts, the meaning of unliquidated damage
is:

A) Ascertainable

B) Penalty

C) Approximately Arrived at
D) Punishment

46) The Law of Torts has largely developed through:

A) Bill of Parliament

B) Act of Parliament

C) Decisions of the Court
D) Ordinance

47) Statements:

All the Harmoniums are
All the Instruments are flutes.

Instruments.

Conclusion:
I. All the flutes are Instruments.

II. All the Harmoniums are Flutes.

A) Only | conclusion follows.
B) Neither I nor Il follows

C) Either | or Il follows

D) Only Il conclusion follows

48) Number of Languages in the Eighth Schedule of the
Constitution of India is

A) 19
B) 15
C) 21
D) 22

49) Choose the figure which is different from the rest.

N[/ 7]=

|
1 @ (&) (4 (5

A) Image 4
B) Image 2
C) Image 1 and 5
D) Image 3

50) Arrange the words given below in a meaningful
sequence.

1. Leaf 2. Fruit 3. Stem 4. Root 5. Flower

A)4,3,1,5,2
B)4,1,3,5,2
C)4,3,1,2,5
D)3,4,5,1,2



51) Who among the following is competent to enter into a
contract under the Indian Contract Act, 18727

A) A person who is major, of sound mind and not
declared as disqualified from contracting by any law

B) None of the above
C) An insane person
D) A person who is minor and of sound mind

52) Arrange the words given below in a meaningful
sequence

1. Key, 2. Door, 3. Lock, 4. Room, 5. Switch On

A)1,32 4,5
B)4,2,1,5,3
C)5,1,2, 4,3
D) 1,2 3,5, 4

53) A and B are Brothers. C and D are sisters. A's son is
D's Brother. How is B related to C

A) Uncle

B) Grand-Father
C) Father

D) Brother

54) What will come in place of Question Mark?

1,9, 25,49,?,121

A) 81
B) 100
C) 64
D) 91

55) The case Salomon v. Salomon and Co. Ltd laid which
the following characteristic of company?

A) Corporate Personality

B) Limited Liability
C) Separate Property
D) Perpetual Succession

56) Which one of the following is not included in the
definition of “key managerial personnel” under the
Companies Act, 20137

A) Whole Time Director
B) Manager

C) Managing Director
D) Independent Director

57) In law of torts, a master is generally liable for acts of
his servant. This is called

A) Vicarious liability
B) Unlimited liability
C) Absolute liability
D) Strict liability

58) Right to Education is a

A) Fundamental Right

B) Legal Right
C) Directive Principle
D) Fundamental Duties

59) Arrange the words given below in a meaningful
sequence

1. Word, 2. Paragraph, 3. Sentence, 4. Letters, 5. Phrase

A)4,1,5,2 3
B) 4,2,5,1,3
C)4,1,5,3,2
D) 4,1,3,5,2

60) A is son of C while C and Q are sisters to one another.
Z is the mother of Q. If P is the son of Z, Which one of the
following statements is correct?

A) P is the maternal uncle of A



B) P is the cousin of A
C) Zis the brother of C
D) Q is the grandfather of A

61) Find the odd number/letter from the given alternatives.

A) Judgement
B) Police

C) Judges

D) Lawyers

62) According to the Companies Act, 2013, a private
company (by its articles of association) which is a
subsidiary of a public company shall be:

A) Deemed to be Private Company
B) Deemed to be Public Company
C) A public company

D) A private company

63) Find the odd number/letter from the given alternatives.

A) 4275
B) 5720
C) 6710
D) 2640

64) Governor of a State can be removed by:

A) President of India

A) Driving

B) Swimming
C) Sailing

D) Diving

67) The Joint Sitting of both houses of Parliament
presides over by:

A) Prime Minister
B) Vice - President
C) Governor

D) President

68) Book: Cover :: Painting : ?

A) Wall

B) Example
C) Frame
D) Colour

69) The relationship between the parties to a contract

allowing them to sue each other but preventing a third
party from doing so is:

A) Privy Purse

B) Privity of contract
C) Pious Contract

D) Permanent Contract

B) State Legislature
C) Supreme Court
D) Union Government

70) Insect: Disease:: War : ?

A) Army

B) Destruction
C) Arsenal

D) Defeat

65) How many members the President of India can
nominate to the Lower House of Parliament?

A) 12
B) 10
C) 14
D) 16

66) Find the odd number/letter from the given alternatives.



Section 3 - Economic and Business Environment

71) Which of the following needs to be deducted to derive
NDP from GDP?

A) Net Sales
B) Depreciation
C) Net Profit

D) Net Loss

72) National Skill Development Corporation was set up
by

A) Ministry of Finance

B) Ministry of Statistics and Programme Implementation
C) Ministry of Agriculture

D) Ministry of Human Resource Development

73) If ep <1, it signifies:

A) Relatively Inelastic Demand
B) Perfectly Elastic Demand
C) Perfectly Inelastic Demand
D) Unitary Elastic Demand

74) ‘No change in consumers’ income’, is the assumption
of which of the following laws of Economics?

A) Law of Supply
B) Law of Increasing Returns to Scale

C) Law of Diminishing Returns to Scale
D) Law of Demand

75) Small Finance Banks are licensed under Section 22
of the

A) Banking Regulation Act, 1949
B) Negotiable Instruments Act, 1881
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C) Reserve Bank of India Act, 1935
D) Indian Contract Act, 1872

76) The Government of |India has launched

the with an investment of Rs.50,000 crore
aimed at development of irrigation sources for providing a
permanent solution from drought.

A) Pradhan Mantri Krishi Suyoijit Yojana

B) Pradhan Mantri Krishi Suryodaya Yojana
C) Pradhan Mantri Krishi Suraksha Yojana
D) Pradhan Mantri Krishi Sinchai Yojana

77)

is expenditure incurred on by business
firms on

a) new plants,
b) adding to the stock of inventories and
c) on newly constructed houses

A) Consumption expenditure
B) None of the above

C) Investment expenditure
D) Net exports

78) e-Sanchit, an online application system, under the
has been implemented in order to
facilitate traders to submit all supporting documents
electronically with digital signatures.

A) Single Window Incentive for Trade (SWIFT)
B) Single Window Interface for Trade (SWIFT)
C) Single Window Initiative for Trade (SWIFT)
D) Single Window Innovation for Trade (SWIFT)



79) Which of the following is not the affiliated office of
Ministry of Corporate Affairs?

A) Competition Commission of India
B) Serious Fraud Investigation Office
C) Central Statistics Office

D) Indian Institute of Corporate Affairs

80) In September 2018, was launched
under Ayushman Bharat to provide coverage of up to
Rs.5,00,000 to more than 100 million vulnerable families.

A) New Health Protection Scheme

B) National Health Prevention Scheme
C) National Health Promotion Scheme
D) National Health Protection Scheme

81) Contingency Fund is at the disposal of the

A) President

B) Chief Minister
C) Cabinet Minister
D) Prime Minister

82) Stand Up India Scheme is anchored by which of the
following?

A) Department of Higher Education

B) Department of Science and Technology
C) Department of Financial Services

D) Department of Social Welfare

83) ‘No change in the seller's expectations regarding

future prices’, is the assumption of which of the following
laws of Economics?

A) Law of Increasing Returns to Scale
B) Law of Supply

C) Law of Diminishing Returns to Scale
D) Law of Demand

84) When there is an excess of exports over imports, it is
called

A) Favourable Balance of Payment

B) Unfavourable Balance of Payment
C) Favourable Balance of Trade
D) Unfavourable Balance of Trade

85) All revenues raised by the government, money

borrowed and receipts from loans given by the
government flow into the

A) Net Fund of India

B) Gross Fund of India

C) Consolidated Fund of India

D) State Governments Fund of India

86) The Revenue Budget records all and

A) Revenue receipts and Capital expenditure

B) Revenue expenditure and Capital expenditure
C) Revenue receipts and Capital receipts

D) Revenue receipts and Revenue expenditure

87) The formula to compute GNP at Market Prices is:

A) GNP at Market Prices = GDP at Market Prices + Net
Income from Abroad

B) GNP at Market Prices
Depreciation

C) GNP at Market Prices
Depreciation

D) GNP at Market Prices = GDP at Market Prices — Net
Income from Abroad

GDP at Market Prices +

GNP at Market Prices +

88) Banks are classified into

A) Four categories
B) Seven categories
C) Six categories

D) Five categories

89) If ep = 0, then it signifies:

A) Perfectly Elastic Demand
B) Perfectly Inelastic Demand



C) Relatively Inelastic Demand
D) Unitary Elastic Demand

90) gives power to the government to
withdraw funds from the Consolidated Fund of India for
meeting the expenditure during the financial year.

A) Ordinary Bill

B) Finance Bill

C) Appropriation Bill

D) Constitution Amendment Bill

91) Recognising the need for skill development in India,
which of the following policies was formulated by the

Government of India in 2009?

A) National Skill Innovation Policy

B) National Skill Development Policy
C) National Skill Growth Policy

D) National Social Development Policy

92) All receipts and expenditure that in general do not
entail sale or creation of assets are included under the

A) Revenue Account

B) Sales Account

C) Capital Account

D) Profit and Loss Account

93) means a schedule of possible prices
and amounts that would be sold at each price.

A) Sales
B) Profit
C) Demand
D) Supply

94) In 1978, UTI was de-linked from the RBI and the

took over the regulatory
and administrative control place in place of RBI.

A) Small Industries Development Bank of India
B) Industrial Finance Corporation of India
C) Industrial Development Bank of India

D) National Bank for Agriculture and Rural Development

95) In India, the is the apex banking
institution that regulates the monetary policy in the
country.

A) State Bank of India

B) Canara Bank

C) Reserve Bank of India

D) Oriental Bank of Commerce

96) Which of the following is / are considered for

calculating National Income according to the Expenditure
Method?

A) Government Expenditure; Investment Expenditure
and Net Exports

B) Net Exports and Consumption Expenditure
C) Consumption Expenditure

D) Consumption Expenditure; Investment Expenditure;
Government Expenditure and Net Exports

97) City Union Bank is covered under which of the
following categories?

A) None of the above

B) New Private Sector Bank
C) Public Sector Bank

D) OId Private Sector Bank

98) The formula to calculate Income Elasticity of Demand
is:

A) Percentage Change in Quantity Demanded -
Percentage Change in Income

B) Percentage Change in Quantity Demanded +
Percentage Change in Income

C) Percentage Change in Quantity Demanded x
Percentage Change in Income

D) Percentage Change in Quantity Demanded /
Percentage Change in Income

99) Which method of calculating National Income has the
risk of ‘Double Counting’?

A) Profit Method
B) Expenditure Method



C) Product Method
D) Income Method

100) Windfall gains like, prizes won, lotteries etc. should
not be included in the estimation of national income is the
precaution to be followed under which of the following
methods of computing national income?

A) Profit Method

B) Product Method

C) Expenditure Method
D) Income Method

101) The formula to calculate NDP at Factor Cost is:

A) NDP at Factor Cost = Gross Value Added at Factor
Cost + Depreciation

B) NDP at Factor Cost = Gross Value Added /
Depreciation

C) NDP at Factor Cost = Gross Valued Added at Factor
Cost - Depreciation

D) NDP at Factor Cost = Gross Value Added at Factor
Cost x Depreciation

102) If quantity supplied changes by a lower percentage
than a percentage change in price, it is termed as:

A) Relatively Less-Elastic Supply
B) Relatively Greater-Elastic Supply
C) Unitary Elastic Supply

D) Perfectly Inelastic Supply

103) ‘Estimating net value added by each producing
enterprise as well as each industrial sector and adding up
the net value added by all the sectors”, is a step
considered for calculating National Income under which of
the following methods?

A) Value Added Method
B) Profit Method

C) Expenditure Method
D) Income Method

104) Green Revolution Programme was launched in
which of the following five year plans of India?

A) Third Five Year Plan

B) Tenth Five Year Plan
C) Eight Five Year Plan
D) First Five Year Plan

105) The states that a firm will produce
and offer to sell greater quantities of a product or service

as the price of that product or service rises, other things
being equal.

A) Law of Variable Proportions

B) Law of Diminishing Marginal Utility
C) Law of Supply

D) Law of Diminishing Returns to Scale



Section 4 - Current Affairs

106) Who is the Chairperson of the high-level panel
recently set-up to prepare an investigation manual for
Serious Fraud Investigation Office (SFI0)?

A) Injeti Srinivas
B) Tapan Ray
C) UK Sinha

D) N K Singh

107) National Pension System (NPS) subscribers are to
be allowed partial withdrawal for covering expenses for
COVID-19 treatment. Which organization manages NPS?

A) Insurance Regulatory and Development Authority
B) Life Insurance Corporation of India
C) Securities and Exchange Board of India

D) Pension Fund Regulatory and Development Authority
of India

108) Mr. Pravin Rao has been appointed as the new
Chairman of which of the following Organization?

A) PHD Chamber of Commerce and Industry
B) NASSCOM

C) FICCI

D) Cll

109) Which former Chief Justice of India has been
nominated to Rajya Sabha?

A) Dipak Misra

B) Ranjan Gogoi

C) Jagdish Singh Khehar
D) T. S Thakur

No. of Questions: 15
Duration in Minutes: 120

110) An initiative of ‘Arogya Setu Interactive Voice
Responses System (IVRS) Service’ has been launched by
the centre in association with which state government?

A) Kerala

B) Tamil Nadu
C) Rajasthan
D) Odisha

111) The Cabinet approved the temporary suspension of
the MPLAD (members of parliament local area
development scheme) Fund for how many years, amidst
the Coronavirus pandemic?

A) Four
B) One
C) Three
D) Two

112) Ankita Raina is associated with which sports, who
was in the news recently?

A) Badminton
B) Squash

C) Table-Tennis
D) Tennis

113) Avani Chaturvedi, Bhawanna Kanth and Mohana
Singh Jitarwal, who recently received the ‘Nari Shakti
Puraskar’ award, are associated with which profession?

A) Sportsperson
B) Army Officers
C) Naval Captains
D) Fighter Pilots



114) The Supreme Court has directed the Central
Government to provide PPEs to doctors, medical staff

attending to Corona virus patients. What does PPE stand
for?

A) Protective Patient evaluation
B) Protective Patient equipment
C) Personal Patient evaluation
D) Personal Protective equipment

115) Which is the venue of the main national event for the
sixth International Day of Yoga, 20207?

A) Guwahati
B) New Delhi
C) Leh

D) Ranchi

116) The year 2020 marked as

......... anniversary of
Jallianwala Bagh Massacre?

A) 103
B) 100t
C) 102
D) 101t

117) Masatsugu Asakawa is the President of which

International Financial institution, which has also assured
$2.2 billion assistance to India?

A) World Economic Forum
B) BRICS Bank

C) Asian Development Bank
D) World Bank

118) What is the name of the online challenge for
students, launched by the innovation cell of MHRD and

AICTE, for developing solutions to the Corona virus
pandemic?

A) SAMADHAN
B) SOOCHNA
C) CHUNAUTI
D) SAMRIDDHI

119) Which Indian Public Sector Bank waived the

minimum balance requirement for all savings bank (SB)
accounts?

A) State Bank of India
B) Canara Bank

C) Union Bank of India
D) Punjab National Bank

120) World Health Organization (WHO) Declared Covid-
19 as a pandemic. Which disease was previously
declared as pandemic by WHO?

A) HIV

B) H1N1 Influenza
C) Swine Flu

D) Spanish Flu
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